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ctoring. (Solve for x). Show work.

2. Solve for x and graph final solution on a number-line.

-4(3-5x) < 3(4x+4)

3. Solve the following inequality algebraically and write solution using set notation

using interval notation.
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and interval notation.

Show work
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5. Given {(x) %t o Ay’ -5

a) Find the average rale of change for x a [-1,
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H‘ y

s factor table Express answers using set

i)(] “(}4 ‘I ipn

§)

- 36X

W

- 36

1 ]. Show work. sl

= £%¢) oSz (=1, 12) %7 B 1] o M ae P B AR
X, A s . . ( - L
_~ARpc = L‘,l,\_ ! l (Y ) .
¥3- ¥y
-'(—I,,' 2’[-1'7w{_‘l-r —‘|li(:"’i€. (. 5 j(,»'
,{ {1 | B = , 4 ’,) - ’Z
b) Find the instantaneous rate of change at x = 3 and x =-2. (use h=0.001 ). Show work.
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